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Item No: 21
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Item No: 22
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Item No: 29
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Topic: Physics-Section A
Item No: 31
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foq erad Hied Ud. Egrel w3 A 9dd 9 5% HU3T 878 Hadg Hied <3 ¥4l

Question: WS fars 3 fanalaas ai31 d faAHiede 3 g fed ead Hied 5%
fHeSt 912 or9d ©f 98 wags dediidalien f&d ffa €39 9)

A 15%

B: 25%

C: 75%

D: 5%

Topic: Physics-Section A

Item No: 32
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Topic: Physics-Section A
Item No: 33
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Item No: 35
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Item No: 36

Question ID: 11694036

Question Type: | MCQ
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Topic: Physics-Section A
Item No: 38
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Iltem No: 41
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Item No: 42
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Iltem No: 43
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Item No: 44
Question ID: 11694044
Question Type: | MCQ

4ATI I De M3 4 AT HB T i YSiedsi adc gHE g3 eni3 2«

Question: e yidu i gmaw J 19 YFiouat feg §3uUs 98 30U v uigys, fed mif
W337% &9 ol J=am

A: 3.2

B: 3:1

C: 34

D: 4:3
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Item No: 45
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Item No: 46

Question ID: 11694046

Question Type: | MCQ
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Item No: 47
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Topic: Physics-Section A
Item No: 48
Question ID: 11694048
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Item No: 49

Question ID: 11694049
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Topic: Physics-Section A
Item No: 50
Question ID: 11694050
Question Type: | MCQ
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Topic: Physics-Section B

Item No: 51
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Topic: Physics-Section B
Iltem No: 52
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Iltem No: 53
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Item No: 54
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Item No: 56
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Item No: 57
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Question: s g . o A
B MO UA Y KT AT JIfGa S H A, SB 98T I& 1 - —d
r B
Eﬁ D:_f:”
Topic: Physics-Section B
Item No: 58
Question ID: 11694058

Question Type:

Numeric Answer




60 cm UTH %= 15 cmﬂ?@@%ﬁ’@ﬂmméﬂﬁg

Question. (HP g TS 25 = 10° Nm™2) § 18.0 » 10% N 2 TS Hiwig 53(ferm us8 ym
uifgeas 2 witits Il I 1T68 A9 & S9m <3 Bfemr famn QU fm =
femaue imdl

Topic: Physics-Section B

Iltem No: 59

Question ID: 11694059

Question Type:

Numeric Answer

1.5 m MdU fenmA < o yg fore Augn 9y §3 og) i3 fa 9
F=(12t — 3t2) N &8 Wy Udl © 2& WiHel dJ (t § HidS (€9 THiew famn
&) 1798 YB] T A337 T HH< eA=! WHG gdl T93 4.5 ke m? J 31 U @arar

Question:
ferel 9% < fom 883l de 3 ulgsi &¢ are wngnit < Hitmn %ééaﬂl
KorHie Jedr|

Topic: Physics-Section B

Item No: 60

Question ID: 11694060

Question Type:

Numeric Answer

m YA 1 89 9T § v3Tm Qua <8 Biewr fapr J1 2 m YA <l B grdidie §
YT &% o 2 o e <3 Hiew fam 3 1S garag AHi »i3gs w8 gor feg

tion:
Question Il I et dier enra Yz St G wrugus e L I3
.
T AHF I
Topic: Chemistry-Section A
Iltem No: 61
Question ID: 11694061
Question Type: | MCQ

250 ¢ I[H 31 IBaH T WS A 199 10.8% F99 I19 Y318 Hyge J WS <
HBBI {38 nid

Question:
((H3"UYgHE 99 H.1:C.12:0.,16)
A: 1.03
B: 2.06
C: 3.09
D: 5.40

Topic:

Chemistry-Section A




Iltem No: 62
Question ID: 11694062
Question Type: | MCQ
Jot T 985 i3 I8 I |

FESI: 0,. Cu ™. Fe* 4Hdl 53d ¥H'd" dH1d gu &' [Hd Al I8 w3 fere]
J993". 994l 439 < fa fem 29 91

Question:
FH5 [1:NaCl, H,O <l 99937 FHrd »i3 g6l 434 feudi3 ferr {9 J1
SuUdas 5T 2 v 3 Jot o3 feasul fod 73 3 Za< §39 981

A: T8 9ES 1 W3 JEHS I Adl 96

B: A dES I M3 JES 1 IIB3 I8

C: FES I Adl d Ud IES 11 I1B3 o

D: FEE 1 183 J Ud 986 11 A

Topic: Chemistry-Section A

Item No: 63

Question ID: 11694063

Question Type: | MCQ

I < 86 3 IR I | RT S g aas Anllas A3 famr I w3 T & 995
Y& R Wila3 137 fap |

93 988 A TEFAS « 25 WIf9eS o1 §aa SiEhH © 25 wiafges I <u d|

sueston s . s A G R e T e g
|
Sudas a1 2w §3 dat i3 feasui f&d /A3 2 g9 €39 9|
A: Y6 A W3 R A I8 M3 R, A T Al fenfiymr J
B: Y& A W3 R Adl I8 Ud R, A 91 Adl faniftmn 5 9
C: AFNJUIR AT &l J
D: AFI I IJUIR AT
Topic: Chemistry-Section A
Item No: 64
Question ID: | 11694064
Question Type: | MCQ




Joi ¥ 785 I3 91 I&, B9 § fog 996 A »1=3 g § 9796 986 R Wila3 S5
famm 31
feg 995 A QTS T998 50, & (= AHdE '8 HYDT J CH, 58

Question: IS R: IH HE T 139 IUHS e Jer J15d fafanmiis odas Gua
WA &8 Byl 7 J 1
Sudas 85T T w3 Jat o3 feasul f2d 73 3 gae §39 9|
Sudas gEaT 2w 3 It o3 feasui fed A S gaei G309 9¢

A: Y& A W3 R A IS M3 R, A 9 7l fennfani I

B: Y& A W3 R Adl I8 Ud R, A ©1 Adt faniftmn 5 9

C: AAS I UG R AR ES T

D: AFASEHA I UIRAS T

Topic: Chemistry-Section A

Iltem No: 65

Question ID: | 11694065

Question Type: | MCQ

2% WMETHUAIS W3 A T WS o §9% a7 8% wieaudAs wiss s 2 um 2

Question: | g J1a w3 B S UIHE I9T T HeT d

A: My =4Mp

B: Mg =4My

C: M, =8Mp

D: Mg = 8My

Topic: Chemistry-Section A

Item No: 66

Question ID: 11694066

Question Type: | MCQ

Question: %3 99 o

A: K < Ulas@ nrelfsa Maasul Na w3 Li &8 we |

B: Xe ol wiglfaa wisgsUl gy ffg A 3 we sdl I

C: YIHE W 37 df ufa&t wirelfad MEasUl ygHe »id 38 378 We J
D Ga ¥ UfaSl wirdifaa wiatdut - 9879 ¥ 33 fAAe ygHTe »id 30 3 20 Jed

Gl




Topic: Chemistry-Section A
Item No: 67
Question ID: 11694067
Question Type: | MCQ
J&1 RISt faa gttt fethni & fan w13 < Hlags &g &l 2afzwi A d
A T39d8
Question: B. SHHIEEA
c. farsginues
D. Hd& fedl
E. dHITS
A: fAdeB.D
B: fAde A.B.D.E
C: fAdeB.D.E
D: frge A, C.E
Topic: Chemistry-Section A
Item No: 68
Question ID: 11694068
Question Type: | MCQ
J51 2 985 3 I T5 |

JEE [ TEIFAS YPHEHES 18 3 #13 ¥id B3 {9 wirerHiaraa w3
BWFFH 2 oH I AFTT I |

cueston FEBIL: 298 K SUHTS SUd TEIEHS UTnTIATENs <l WE3T D,0 &8 Ufe d<i
dJI
Qudas Fa&T 2 wirg '3 I8 93 feasyl (& A/dt G539 92

A: T8 qES 1 03 I8E 1L A I8

B: Y& FHE 1 %3 FE5 11 II%3 I8

C: S T A J Ud FEE 11 %3 J

D: S 19183 J Yd FHE 11 HJl J

Topic: Chemistry-Section A

Item No: 69

Question ID: 11694069

Question Type: | MCQ




J61 ¥ 988 2 IR I5 |

FEELBe %3 Al 2 RIS 91 Cl-UBTE Hdga! d W2 26 Figga! Biare
&9 Wz 72 95 w3 BIgA g 24 o1 gae 75|

sueston TEEIL Be 213 Al ¥ TERHIEHTENS =1y wigas 25 U 3 §dtde w3
WMGHI&S mifes e Ta)
BUda3 FEa = »ud 3 Jot 3 feasul &9 Adl G339 51

A: Yo JES 1 %3 9896 1L A 96

B: T4 TEE 1 3 JEK 11 183 Ib

C: FEE A J Ud FEE 11 I183 J

D: FE5 1 d%3 J Ud 84 1L Adl J

Topic: Chemistry-Section A

Item No: 70

Question ID: | 11694070

Question Type: | MCQ

STHEdH © [qH »aH MiAS €9 A3 3 U WaHIAS YgH'S BHY gAeed

Question: e Ry f@?ﬂ?‘i?
A: yreld gTHE A WiHS
B: Jel] gHelda WA
C: SHeI&d WA
D: yreideHedd WAz
Topic: Chemistry-Section A
Item No: 71
Question ID: 11694071
Question Type: | MCQ
J& 2 985 93 9I5|

5 I §3Uga »ifeds (111). 37 K, Cr,0- M3 f83UH KMno B 18
WIHIAIS ddd 1, 95 € (S0 §33d gu <9 393 due Ta |

Question:
TEBIL: HATAE MTes A3 29 widggal #i3 pr—pr U8 Hg< I6 |
Sudas a1 @ w3 It o3 feasul f2d 7t €39 9

A T& FEE 1 W3 98 11 Adl 6|

B: & FEE 1 W3 98 11 3153 I& |




JH& [ Hdl I W3 FE& 1 dI83

D: FEE 1 IS3 J W3 T8 I Al J
Topic: Chemistry-Section A

Item No: 72

Question ID: 11694072

Question Type: | MCQ

Question: Mn, 05 IES] aj’?:s farest Mn=0 U5 J
A: 4
B 5
C: ]
D 3
Topic: Chemistry-Section A
Iltem No: 73
Question ID: 11694073
Question Type: | MCQ
FO 193 g 1 ¥ HeE g
Tl I(YTHS 9da) Hl(fardh
A. ABE2 (>500 ppm) | HiE RS m it
Question: B. AE12¢ ( >50 ppm) Il ¥ T gaUT
¢. 85(fiam (>50 ppb) I, 8T8 BT
D. SBT3 (> 2ppm) Iv. JI< =y
A: A-IV. B-I. C-II. D-III
B: A-TIL B-1. C-IV. D-II
C: A-IL B-IV, C-I. D-III
D: A-II. B-IV, C-II1. D-I
Topic: Chemistry-Section A
Iltem No: 74
Question ID: 11694074
Question Type: | MCQ




J51 < F8a 03 912 95178 § o3 9896 A »i3 T § 9796 986 R w93 91357
famar |

foz qu5 A:[6] WgEls, (3] Wadis, mw:ﬂ[m]h@m nadia gHed.
ﬂéﬁl‘zaaiaﬂéﬁﬁ:a anfex w3 di

O O GO

Question:
[6] Annulene, [8] Annulene
cis - [10] Annulene
196 F86 R:uigiied w13 feuds wionfed yo&dl Bt mizsl da fie
ERCER]
SuUdas 95T 2 W 3 dot o3 feasul fad 73 3 ga< §39 981
A: TS A W3 R Adl I8 w3 R, A 91 At fenfipnr o
B: Y& A W3 R Ad U6 Ud R, A €1 Adt fanifimn 5 9
C: AATIUYIR ATt &1 J
D: AATNBAIUIR AT I
Topic: Chemistry-Section A
Item No: 75
Question ID: 11694075
Question Type: | MCQ
CH,OH
+HCl -2 5 A M0l yp
Question:
OH
BSuAd
CH,
A:
OH




CH,I

B:
|
CH,CI
C:
OH
CH,CI
D:
|
Topic: Chemistry-Section A
Iltem No: 76
Question ID: 11694076
Question Type: | MCQ
o 1 w2 g0 HaG
el I
HJ8d zufad &t
A TIAE w2 TOHAESTES 9fFs |, famues
Question: B. AlTSUSH 1,3- II. 328
fagesialn »i2 redlda
C. TS w3 BiEa s Il §&57-5
EhiRed
D. TIETEEE w3 TaEd WA . ZTaA
=
A: A-IL B-III. C-TIV, D-I
B: A-II. B-III. C-1. D-IV
C: A-IL B-1. C-III. D-IV
D: A-IIL B-II. C-IV, D-I
Topic: Chemistry-Section A

Item No:

77




Question ID: 11694077

Question Type: | MCQ

A6 X' T 3H| 7HI3 {9 (6IASI9ds 994 €d8d® J81-J8! 93 a1 d|
Question: o3 93 yIifafonr ag< diiaritds &% daerd Gur 92 <d g a3

Hald X' J
A: W3 Udd
B: WE3 oodd
C: WIIHISS IS
D: dic ¢odd
Topic: Chemistry-Section A
Item No: 78

Question ID: 11694078

Question Type: | MCQ

Question:




FE 1 »13 g 11 9 [HS'T 94|
T
. §= 3 59e =9 y=iFEE)
OH II. &1 778 550 I (HaH 29
B.
CH; CH,
Cl
NHNH, 1. BEtS! st

O IV. IdTE &THI

|

N

D. NH
s/
7N
9] O
Jot i3 fegsyi f&d Adl 839 92

A: A-TV. B-IIL. C-I1. D-I
B: A-IIL B-I. C-I1. D-IV
C: A-IL B-IV. C-I, D-II
D: A-IIL B-1. C-IV. D-II
Topic: Chemistry-Section A
Item No: 79
Question ID: 11694079
Question Type: | MCQ




oA [Tl 518 JEHE © WSS T 0.45 I[H FIHA1 Wi 0.36
d[H AgBr i1 J10ifare 29 goHls S WEas H3a uzr 54|

Question:
(MT<] 9'd AgBr = 188 g mol'l. Br:80 I[HHH)
A: 34.04%
B: 40.04%
C: 36.03%
D: 38.04%
Topic: Chemistry-Section A
Item No: 80
Question ID: 11694080
Question Type: | MCQ
JU 1 913 gO I @ HeE ad
Hal | Hol Il
A HOHIG FECATE a5dEE 1. YfeHdt wils © <re B
B. Tera ganmEts ySHafanr I 4=t Feae
Question: _
C. FT995 wiHis USiaiant IINELECE R EECHES
D. TeHs fem= V. %TERAE © UStaige e wien
o
Jot i3 fegsut &9 Ad 33 7
A: A-TV, B-III. C-II. D-I
B: A-TV. B-II. C-I. D-III
C: A-IIL B-IV. C-1. D-II
D: A-IV, B-III, C-1, D-II
Topic: Chemistry-Section B
Item No: 81
Question ID: 11694081

Question Type:

Numeric Answer

Question:

20 mL 0.02 M K4Cr,0, T WS § 10 mL Fe?™ W & wigHUE Bel 3]
HH [S9 a3 AT JI Fe SIHBITT . < 102 M I




Topic:

Chemistry-Section B

Item No:

82

Question ID:

11694082

Question Type:

Numeric Answer

2NO + 2H, — N, + 2H,0

Sudas yIifatanr § s00°c Sua fadiue i3 fardT g9 Hajfa § 961 i3
<HG foge TarTemT famT

Yuiar HE BT T8 /| NO/KPa T EZ T RG]
kPa =g /kPa
Question: ﬂ| (kPa/s)
Ldt !
1 65.6 40.0 0135
2 65.6 20.1 0.033
3 38.6 65.6 0.214
4 19.2 65.6 0.106
ySiffann f&g No < 3¢ 2 Adu feg JI
Topic: Chemistry-Section B
Item No: 83
Question ID: 11694083

Question Type:

Numeric Answer

Jot 3 wigAEtg fod 0. gami feg wigdgdt 75

Question:
Na,0, KO;. NO,, N50. CIOE. NO, 50,. CIEO
Topic: Chemistry-Section B
ltem No: 84
Question ID: 11694084

Question Type:

Numeric Answer

fés Afeg wam §3 fEx »iear 9iA < H8d Ga=m AHTET 20.785 TK mol 1T
i3 o <9 92 A< 300 K 3 500 K 3 IGH 37 77 d 315000 7|

g »ife3s 3dmIng R faest | 3

Question:
(839 338 Ya& »ig 39 fzd)
"3 TR=8314 TK lmol Yy
Topic: Chemistry-Section B

Item No:

85




Question ID:

11694085

Question Type:

Numeric Answer

H06 9<l 999d | Jds|

Question:
CN-, NO™, 0y, 0,F, 02"
Topic: Chemistry-Section B
Item No: 86
Question ID: 11694086

Question Type:

Numeric Answer

310 K QUd caF, Tl wacHIE3 Ut 29 2.34 < 107 IH YT 100 mL |

Question: CaFEEﬁ m dicheds % 1078 (mol/L)? 1. (Give molar mass :
CaF,=78¢g mol ™)

Topic: Chemistry-Section B

Item No: 87

Question ID: 11694087

Question Type:

Numeric Answer

SHUSTH AT 539 CoCly(NH;), J © WS ¥ 9%a37 1] fedacgrele ©

Question: i g E -
Hoos e S ansan diyfocdtiduaas Ji

Topic: Chemistry-Section B

Item No: 88

Question ID: 11694088

Question Type: | Numeric Answer

Sl W €9 Kvino, 13 »iaHlsa #iAs © wigHue S ag9s ©

Question: = B 5
WA IS WEHE &1 9282 if3H fig Gug Ji

Topic: Chemistry-Section B

Item No: 89

Question ID: 11694089

Question Type:

Numeric Answer

Question:

ySiteed fimgs 9 Yo fafosmii®sT +12.60 3 i3 fome (+) mmiae <t
fefime we «30° g wyadi gdlegs . JI

Topic:

Chemistry-Section B




Iltem No:

90

Question ID:

11694090

Question Type:

Numeric Answer

Question:

Jo! fa st ySifaiaur feg

50.H

@ Oleum @ NaOH (excess) @

S&mH

yfa@t yStatamr 91 o Uead 60% w3 TG YiBaian 9 50% J1yd
Giafour T dg teegd . o Jl




